Rk R AER

N

T XEHILICET H2EERAE(RIER D FRER)

EEEEXSE

e ER D BRI

B mr &

147E2001

& B

HE

L‘T-_."'-rmJlu?%il

FIT 7t

SALEREHET EHEF RIS

OB O OB

1/ ;fﬁiﬁ?& F_Ji*ﬁﬂj(ﬁlnlj#i*t/g_

I\ . = ]
] BESR my

k-
L (&
|\

(= £ Hh IR 5 D FEHE 1 [X] 200000 — BE J B UEHE 11 %] 25000 ERTT/\ B BT ] %50 &

x '\ B =
t\\\ 2 FREN el ¥ 2 N XM
Ay ) 3y Nogo g
| = : Z
2 P f /
\ 'jm ) % > N
r;i Vg e b N -~ “ _:»’5‘“""" f New
b 7 3 3 N E G 55 T\
% 4 ﬁﬂkr_f & PR o \\:,i e SN N :/,__._‘, & g
e \/ N u I P S \
: kLl > o 2 ]
3 @ eha j am
\. xA W AR \\ ,"4 T = H, 1\
L E BREW \{y,_u L. = = U =
S A /F’“" : 2 ¥ | 4 Z FHR
YSRUE. A
e ; i X |i\
Bl /./ ) ‘1‘ /
R i :\* = 2 H
e 7 b ” # 7
6 % o & / ¥
b / 0 2.5 5 km e 0 250 500 m
4835 X (S=1:200,000) {5 & X(S=1:25,000)
EFR



REMBOBEREXERESE

BR3—1 BEOSThOHLIH ELLEEOSTLOHETHNERER _ | swm=E VIR29FIE
2t & 0 I & BMEs 4752000 | BIFA VE] | BRIl LT

A

250

FL41
= i
A T
CJsLnez=oszhobhdtitoRs:
RENBINOHSZ T HORE
[ teszosmsreme@i 6@
T BEZOFBED HH100kN/ MEBZDEEE
— MR

e
L
|



RIER D AR IR R R E

HR3—2 BEMICEBATHLEESNSHEEICETHEIE/1) REEE  k29rAL
[ RERONE | Bhas 72762001 [ | Ve [ it X LA 7S
. SEMNMOTIRICHEET S aERHA
ﬁig TERFOBHOEILADKRES TRFOHBERILNOKRES TREOBHOEILADKRES TREOHBERILNDOKRES
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZFhst - -~ - —| #hist -~ = — — Zhst — — ~ — —| #hist - ~ — — —
2 100kN/MZ#B% % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z#Z 5 — -~ — — |3mZE#BZ B -~ — — —
Zhst — — ~ — —| FnLst — ~ — — — Fhs — — ~ — —| EnLst — ~ — — —
3 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
ZhnLst — — ~ — —| #nLst — ~ — — — Zh st — — ~ — —| #h LSt — ~ — — —
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
Zh s 1.00 | 000 ~ 433 54.02 | #hbst | 000 ~ 433|202 10.83 Zhst 1.00 | 500 ~ 520 54.02 | FnS | 500 ~ 520|202 10.83
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
ZhLLsh 1.00 | 000 ~ 514 64.04 | TS | 000 ~ 514|174 9.33 ZFhst 1.00 | 500 ~ 550 64.04 | TS | .00 ~ 5560 | 1.74 9.53
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZhLlst 1.00 | 000 ~ 511 63.74 | TS | 000 ~ 511|178 9.55 ZFhst 1.00 | 500 ~ 550 63.74 | ThLS | 5,00 ~ 5.50|1.78 9.65
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZFhust ~ ZFhst ~ Zhst ~ Zhst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ Fhs ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZFhust ~ ZFhust ~ Zhst ~ Zhst ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLst ~ st ~ zhst ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zhst ~ st ~ Zh st ~ st ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZFhust ~ zhst ~ ZFhst ~ Zhst ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ st ~ zhs ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
zhs ~ zh st ~ zhst ~ zh st ~




